IBPS RRB Clerk Prelims 2022 Memory Based Paper - (Solutions)

$1. Ans.(a)
S2. Ans.(c)
$3. Ans.(d)
S$4. Ans.(a)
S5. Ans.(e)
$6. Ans.(c)
S$7.Ans.(a)
$8. Ans.(c)
S9. Ans.(b)
$10. Ans.(b)
S11. Ans.(d)
Sol.
Month Date | Persons
September 11 B
22 Q
October 11 R
22 D
MNovember 11 F
22 T
$12. Ans.(b)
Sol.
Month Date | Persons
September 11 B
22 Q
October 11 R
22 D
November 11 F
22 T
$13. Ans.(a)
Sol.
Month Date | Persons
September 11 B
22 Q
October 11 R
22 D
MNovember 11 F
22 T
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S$14. Ans.(d)
Sol.

Date

Month ) Persons
September 11 B
22 Q
October 11 R
22 D
November 11 F
22 T
$15. Ans.(d)
Sol.
Month Date Persons
September 11 B
22 Q
October 11 R
22 D
November 11 F
22 T
$16. Ans.(c)
Sol.
s(-) C(-)=B8B(+)
A(+)==D(-)
K=—](+)
$17. Ans.(d)
Sol.
S(-) C(-)=8B(+)
A(+)=D(-)
K=—I(+)
$18. Ans.(e)
Sol.
S(-) C(-)=B(+)
A(+)=D(-)

K—](+)




$19. Ans.(d)

$20. Ans.(a)
Sol.

$21. Ans.(a)
Sol.

$22. Ans.(a)
Sol.




$23. Ans.(c)
Sol.

S$24. Ans.(b)
Sol.

$25. Ans.(b)

$26. Ans.(e)
$27. Ans.(b)
$28. Ans.(a)
$29. Ans.(d)
$30. Ans.(c)
$31. Ans.(b)
Sol.
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S$32. Ans.(e)

Sol.
Floor Persons
7 A
6 F
5 C
4 E
3 G
2 B
1 D
$33. Ans.(c)
Sol.
Floor Persons
7 A
6 F
5 C
4 E
3 G
2 B
1 D
$34. Ans.(d)
Sol.
Floor Persons
7 A
(5] F
5 C
4 E
3 G
2 B
1 D
$35. Ans.(b)
$36. Ans.(c)
Sol.

Banana




$37. Ans.(a)
Sol.

$38. Ans.(c)
Sol.

Rabbit

$39. Ans.(e)
Sol.

$40. Ans.(b)

$41. Ans.(d)

Sol.

y2 - x2 = 72— (i)

V-X=4 - (ii)

we know / sowaren @ifed @12 a2 - b2= (a+ b) (a-b)
So,4(v+x)=72

T E L pum—
from (ii) & (iii) we get / (ii) =nfwr (iii) === e -
yv=11&x=7

xxy)=11x7=77
S42. Ans.(e)




Sol.

Letlength and breadth of the rectangle is 7x and 3x respectively.
ATQ -

2(7x + 3x) = 40

10x =20

x=2Zcm

Required area = 14 X 6 = 84 cm?

AT T AT S A Tx A 3x AR I T
T T,

2(7x + 3x) =40

10x =20

Xx=2cm

AT &F=E = 14 X 6 = 84 cm?

S$43. Ans.(a)
Sol.
Required difference / =1=wgs wF

- 1460 =8 x10 _ 1460x5 x10 = 1168 - 730 = Rs.438
100 100

S$44. Ans.(d)
Sol.
Let cost price of each article be Rs. 100x

So, 100x X —> —100x X — = 210
100 100
12x =210

x=17.5Rs.
So, cost price of each article = 1750 Rs.

T R g = Rs. 100x
30 18
=, 100x X — — 100x X — = 210
= 100 100
12x = 210

x = 17.5Rs.
e, 7o @@ fFme = 1750 Rs.

S i A
/

$45. Ans.(e) W ':d

Sol.

G.
ar

R .
Let each type of articles purchased by man be 'n’ M 1 ss i o n B H c
A e Sawe T TERe a5 ' e IR e
ATQ - Bombay High Court Clerk Batch

52 Xn+78Xn+ 108 Xn=1190
n=-=5 Pre Recorded Classes
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$46. Ans.(b)

Sol.

Let present age of A and B be 5x and 4x respectively.
ATQ -

(5x + 4) —(4x+6)=3

Xx =25

Presentage of B = 20 years

A i B = T 51 STH 5 S0 v AT 3 FEeE
(5% + 4) —(4x+6)=3

x =05

Bagm==1 = 20 a¢

S$47. Ans.(d)

Sol.
Let the quantity of milk and water in the mixture be 5x and 3x respectively.
ATQ —

3x 5x
{12(] Kg{):[lﬂﬂ }CB—-I-ZIJ] = 9: 19
X

TereoTefe 5 ST WA FATT AR Sx A 3x A1 T e
T e —

3x 5x
(120 X —-): (120 X —+20) = 9: 19
X

$48. Ans.(b)
Sol.
16
X = ra =32 km/hr

3
y = 160 KE=4Ekm;’hr
Required valueof (x : y) = 32: 48 = 2: 3

160

3
y = 160 X — = 48 fsf /7w

(x: y)Ssaea%e9 = 32: 48 = 2: 3




$49. Ans.(d)
Sol.

Let speed of boat in still water be x kmph
And distance be ‘D" km
ATQ

xr+3

D=2(x+3)— — — —(ii)

From (i) and (ii)

5(x—3) = 2(x + 3)

S5x-15=2x+6

3x =21= x=Tkm/hr

So, required distance =5 % (7 — 3) = 20 km

T vy = 3 x Tt it a2 oW weE

D = 2(x+3)— — — —(ii)

(i) =fer (if) 7ot

5(x—3)=2(x+3)
Sx-15=2x+ 6

3x =21 = x =7 f&l/am

W aEEE A = 5% (7 — 3) = 20 f#H

$50. Ans.(b)
Sol.

Ratio of efficiencyof Ato B = 7: 5

So ratio of time required to complete the work = 5: 7
Now ATQ,

(7-5) — 6days

296

[
5—>E)<5=15days
So,'A’ can complete the work alone in 15 days
ATB=nFEgmE IR = 7 5
T T T R e A e = 50 7
T T,
(7-5) - 6%
2—+6
[+
5 —>E>< 5 =15%m=
W, A’ T F T FE e 15 R




S$51. Ans.(b)
Sol.
Pattern of series —

2+2=4
44+3=7
f+5=12
12+ 7=19
7=19+11 =30

$52. Ans.(c)
Sol.

Pattern of series -
67+ 31 =098

98 + 31 =129

129 + 31 = 160
7=160+ 31 =191
191 + 31 =222

$53. Ans.(c)
Sol.

Pattern of series —
10+2°=18

18 +3°=45

45 + 4° =109

7 =109 + 5°= 234
234 + 6° = 450

S$54. Ans.(a)
Sol.

Pattern of series -
12 +2°=16

16 +3 =25

25+ 47 =41
7=41 +5°=66
66 + 6° =102




$55. Ans.(b)
Sol.

Pattern of series -
15+5=20
20+5=25
25+5=30
7=30+5=35
35+5=40

$56. Ans.(a)
Sol.

doret @Wers a9

Starts May 9, 2022

Total number of sunflowers used in January &March together = 68 4+ 96 = 164

Total number of roses used in January & February together

164 — 160

Required percentage = EET ¥ 100 = 2.5%

FAFATT 3T AT T AT e e = 68 + 96 = 164
AT I Faree AT e e ae = 72 + 88 = 160

164 — 160
AEEE AR = ————— X 100 = 2.5%
160
$57. Ans.(e)
Sol.

96+80+118 _
3

Required average / sm=s3= Tl = 93

$58. Ans.(c)
Sol.
Required ratio / s T =72:84=6:7

$59. Ans.(c)

Sol.
Required difference / #m=s === (118 - 68) =50

$60. Ans.(a)
Sol.
Required sum / #=sa® = (68+112+96)= 276

$61. Ans.(b)
Sol.
Required difference / mawas wF

=50><§—4ﬂ><§=3[)—25=5kg

= 72 + B8 = 160
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$62. Ans.(d)
Sol.
Required ratio / ¥@@as ™M =60:90=2:3

S$63. Ans.(a)

Sol.
Total dry Apricot sold by shop / =n#r2 Apricot sFmm e =@
150

= 150 80 _
—EDxmn X oo 45 kg

S64. Ans.(b)

Sol.

Required percentage / 3a¥a= TH==NT = W % 100 = 25%
$65. Ans.(d)
Sol.

Required difference / sm==% %% = (50 + 90) —(80 + 40) = 20 kg

$66. Ans.(d)
Sol.
510
T =18 + 16
" 510
? = — ==
34
$67. Ans.(d)
Sol.
3 x72= 25+ 49 + 289
22 — 353
T g
72=121
?=11

$68. Ans.(d)

Sol.

72=22 %420 + 2 x 200
100 100

7°= 168 + 88

7= 256

7=16

$69. Ans.(c)
Sol.




$70. Ans.(e)

Sol.
(?)*=16 x 7+ 256 —7
(7)* = 361
?7=19
$71. Ans.(c)
Sol.

V256 x /169 +3600+ 12 =800 -?
16x 13+300=800-7
208+300=800 -7

7=800 -508

7 =292

$72. Ans.(a)

Sol.

? =37.5x14+800 —(26)"+136
7= 525+800-676+136
7=1325-540

7?7 =785

$73. Ans.(c)
Sol.

3.5 x 18-38=(7)°
63-38=(7)°

25 =(7)?

7=2

S$74. Ans.(b)

Sol.
?__29?5

1190
7T=25

$75. Ans.(b)
Sol.
25+4X6X2
3 I
7=25




$76. Ans.(a)

Sol.

(390 + 310-225) x 5=7
(T00-225) = 5=7

AT x 5=7

?7=2375

S$77. Ans.(e)
Sol.

9 x 25 + 1225 + 150 = (?)?
225 + 1225 + 150 = (?)°

7 =+/1600

? =40

$78. Ans.(a)
Sol.

$79. Ans.(c)
Sol.

||:— of (2 460) = 10

= of (74+60) = 100

?7+60=125
? =65
$80. Ans.(b)
Sol.

730 - 2200+2700=7
7=1250

Sl -

faeq @rht

Qe wedt faoy d=
HYUT HERTETATS
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